83000-10 BRXEILIF KX , B , HERYK

7= miiEA

ME
HRET PR FRE T
PBT = PA 12 SEM&RHE,

M
BE:U=10-30V ER
Ihae : B S
FxAH : PNP
ZEAR  FF

B &R : IP 67

B
M, TERIEARNURSFRMBMTRBE, XKy, LM
EETHR, BN LZRB[IFEMIRNFFIELE.

SRR,
for electrics RETH :
-25°C Z +70 °C
® T4
I O =@ REASRERP ARNAERBE,

S 1) LED-#§ 4T

®0 P=BMKE
O s
4 BN = &2
3 58U BK=2¢
BU=HE®&
® Méx1 = SW13 ©
M8x1 =8W13 Mi2xi1 = SWi7
7 UJ 1 I P ;
— (2]
o M. - Y |
—_ —F B E— e = =¥ \= |== I
S —J 1
L P 1 w7
L
83000-10-010X5000 + A M8x1 |30/ - |5000| PBT 1,5 200 3000 PUR 84 3 x 0,14 mm?
54N
83000-10-020 + B M8x1 |45| 34,5 - PBT 2 200 1500 ERERS 3 5 -
4
83000-10-030 + B M8x1 |55|44,5 - PBT 2 200 1500 EHREES 3 5 -
BN
83000-10-040 #M | B M8x1 |59 50 - PA 12 1,5 200 1000 EHREES 3 5 -
83000-10-050 #i | B M8x1 |59 50 - PA 12 2 200 700 RS 34 -

© norelem www.norelem.com




83000-10 BRXEILIF KX , B , HERYK

ME | BNEE B | FRIME f| EEAR B H&H
B | Sn(mm) | max. (mA) (Hz)
83000-10-060 B
83000-10-070 #H | B | M12x1 |65 50 - PA 12 4 200 500 ERESE 35 -
83000-10-080X300 T C | M5X0,5 |27| - 300 | PBT 0,8 100 5000 |iE3EES 3 & -
i

© norelem www.norelem.com




